MIDWEST SENIOR CLASSIC

Season 25, Issue 7

December 3, 2018

About us:

The MSC is a bowling venue for fifty and older players, female or male. Please note that all participants must be at LEAST 50 years of age on the day of the tournament to compete.

Dues & Fees:

The MSC offers 12 Events per year, June through May. Entry Fees for each tournament are \$90 for Members and \$100 for Non-Members. The MSC Membership is \$45 per participant each season. Non-member fees are not applicable to the membership fee. Cash is the preferred method of entry fees. For first time entrants, checks will be accepted.

How it Works:

Payout is 1 for 2, same day. The format is 7 random match games, with an 8th game being a position round. The top 5 plus any seeds go into the stepladder. A 4 or 5 game Stepladder follows. When there are 4 or more Super Seniors or if there are 4 or More Real Old Guys, one must be in the ladder. There must be at least one bowler over 59 years of age in the ladder.

To cash, one must finish in the top 50% of one's age bracket, otherwise you **DO NOT** cash. Cashing will be based on 1 for 2 for each age bracket. Only exceptions: all players over 59 who finish in the natural prize list will cash. Women are guaranteed a 1 for 2 pay out

The year-end tournament has added money to each payout position. To qualify for the year end event, a bowler must be a member and have played at **least 4** tournaments in the 2018-2019 season. Any questions regarding payout and scoring will be left to the discretion of the Director.

Age Classifications:

50 through 59 is a "Regular" 60 through 67 is a "Super Senior" (SS) 68 and Older is a "Real Old Guy" (ROG). One's age determines the bracket they are in.

Every tournament is certified by the USBC.



L to r Mike Schmid, Champion Rob Downer, Mike Henk, Fred Schossow, Dana Wright, Dave Oulman

Rob Downer was dominant in this event, as he averaged 244, 14 pins more than anyone. He won all 8 match games and did not stop in the title match. With this win, he ties Clark Poelzer for the most career titles at 19. This was his 2nd win of the season and moves him into 3rd in the PoY list.

The title match had the same 2 finalists as last year's Drkula's event. Last year, Dana Wright defeated Downer for his 1^{st} title. Wright was the 2^{nd} high qualifier. To get to the final, he defeated Rick Henk in a close match that was decided in the 10^{th} . Wright is looking for title #2. Wright currently is in 2^{nd} on the PoY list as he is having a very good 1^{st} half season, with his lowest finish being an 8^{th} place finish.

Finishing in 3rd was Henk, his high to date. His scratch total of 1847 was second high. He was 4th high qualifier. He defeated 2 players to get to the semifinal. In a close match, he defeated Fred Schossow. He followed that with a win over Dave Oulman. As noted, he lost to Wright in a close match. A very good result for him. Should he play more MSCs, he would have better results.

Dave Oulman qualified 3rd. He has already won an event this season and is looking for title #3. He is having a good season, as he is in the top 10 of the points list. In the game against Henk, he just could not get lined up, probably his worst game of the year. Doesn't seem likely that he would have another game like it this season. He will be a factor in all of the remaining events.

Finishing in 5th place was the leader in the rookie of the point list, Schossow. He is off to a fine start, as this was his 2nd top 5 finish. He defeated Mike Schmid in the 1st ladder game and then lost to Henk in a close match. Look for him to win a title this season.

Mike Schmid was seeded into the ladder and lost the match in the 10th. Schmid has 3 titles and 19 other top 5 finishes in his MSC resume.

Sundance Bowl & Golf

Date:	Sunday, December 16, 2018
Paddock:	8:15am
Warm-up:	9:00am
Bowl:	9:10am
Address:	15240 113 th Ave N
	Maple Grove, Mn 55369

<u>ber:</u> 763-420-4800
MapQuest, Google or use
your GPS for Directions. 😊
has 24 Lanes, a Full Service Bar
Lounge, Snack Bar, Video games,
op, pool tables, pull tabs .

2018-2019 Tournament Schedule Dates and Sites				
Sunday, June 24 th	Huikko's			
Sunday, July 22 rd	Sun Ray			
Sunday, August 26 th	Texa Tonka			
Sunday, September 9 th	Apple Place			
Sunday, October 21st	Monticello			
Sunday, November 25 th	Drkula's			
Sunday, December 16 th	Sundance Bowl			
Sunday, January 20 st	Park Grove			
Sunday, February 24 th	Ham Lake Lanes			
Sunday, March 24 th	Mermaid			
Sunday, April 28 th	Cedarvale			
Sunday, May 19 th	Apple Place			

Previous Winners at Sundances

This will be the first MSC event at this fine center



<u>A Brief Glance at the</u> 2018-2019 Season

- 6 Tournaments
- 183 Total Entries
 65 Different Players have Participated in at Least One Tournament
- 5 Different Winners
- 2 First Time Winner
- 1 Two-Time Winner
- After 6 Tournaments, the Field Average is 203
- 4-300, 1-800, 1-299

J.D.'S FAIRLY USELESS INFORMATION

Honor Scores:

High 3 Game Start	Ladder Guy	752	Downer
Low 3 Game Start	Ladder Guy	624	Schossow
High Game Start	Ladder Guy	279	Birkedahl
Low Game Start	Ladder Guy	205	Schossow

Field Average: 198

High 3 Game Start	Casher	750	Schmiesing
Low 3 Game Start	Casher	583	Blazej
High Game Start	Casher	258	Wirz
Low Game Start	Casher	174	Segerstrom

First Time Casher: , Tschida, Orth

Most Wins: 8-Downer

<u>All Deuces:</u> Downer, Wright, Oulman, Henk, Schossow <u>Needed to make Step Ladder:</u> Win at Least 5 Games + Average 220

Needed to Cash: Average 190 and Win at Least 4 Games

Age Group Averages for this Event				
Seniors	204			
Super Seniors	206			
Real Old Guys	193			

To receive emails regarding the MSC, Tournaments and Monthly Newsletter, please send your email address to: perfuseguy@yahoo.com

Rants & Raves:

Thanks to Tim and Gary Drkula for hosting us. The shot was not easy. There were zero problems, service was great and the desk was always ready.

Visit the MSC Website for the Latest News for the 2018-2019 Season

http://midwestseniorclassic.com/

	INCOME			
Entries		44	\$90	3960
Entry Fees	Non-Members	14	\$10	140
New Memberships	Memberships	5	\$45	225
TOTAL				4325
	OUTGO			
Prize Fund	Entries	44	72	3168
Expenses	Entries	44	10	440
To Year End Tourney	Entries	44	5	220
Membership to Director	Entries	5	45	225
Non-Member Fee		14	10	140
To prize list from MSC fd				0
To MSC fund	**	44	3	132
				4325
	Total			
Value of yr end	Entries to Date	183	5	\$915

Tid Bits

Downer had the high game in games 3, 5, 8 Schossow, after this event, has a big lead in the RoY points

Clark Poelzer had highest opponents-1781 Tim Racettehad the easiest opponents-1469

Henk, Schossow & Oulman, top 5 whose opponents Averaged 200+ Highest game was a 286 by Olynyk

	DrKULA'S Prize List 1					
	cert # 04960					
POS	PLAYER		scratch	bonus	total	\$\$\$
1	DOWNER, ROB	SS	1951	320	2271	330
2	WRIGHT, DANA		1832	240	2072	260
3	HENK< RICK-SS		1828	240	2068	205
4	OULMAN< DAVE	SS	1847	200	2047	190
5	SCHOSSOW, FRED		1784	200	1984	180
6	BIRKEDAHL, LARRY		1743	240	1983	170
7	WIRZ, MIKE	SS	1734	240	1974	160
8	SCHMIESING, BRUCE		1744	200	1944	155
9	HOMMES, JOHN		1696	200	1896	145
10	NELSON, RON		1656	240	1896	135
11	SEGERSTROM, JEFF	SS	1712	180	1892	125
12	SCHMID, MIKE	rog	1690	200	1890	115
13	HALIDA, TERRY		1659	200	1859	110
14	JONES, TOM		1611	240	1851	105
15	NELSON, BILL		1632	200	1832	105
16	MANKSE, WARREN	SS	1630	200	1830	105
17	BLAZEJ, GEORGE	rog	1667	160	1827	100
18	HOLETS, KEN	SS	1649	160	1809	100
19	WORM, KENNY	SS	1682	120	1802	95
20	CARLSON, LEIF	SS	1660	140	1800	95
21	ORTH, KEITH	rog	1532	160	1692	90
22	TSCHIDA, DON	rog	1521	140	1661	90
23	GOODWIN< CRAIG		1612	200	1812	
24	JONES, DAVE		1646	160	1806	
25	POELZER, CLARK-ss		1670	120	1790	
26	SCHIFFLER, Craig		1670	120	1790	
27	PETERSEN, TIM		1614	160	1774	
28	BUSCH, NEIL	SS	1583	160	1743	
29	RACETTE, TIM	ss	1540	200	1740	
30	PETERSON, ED		1659	80	1739	
31	MADLINE, TONY	SS	1569	160	1729	
32	MIELENS, PAUL	ss	1648	80	1728	
33	WOBBEMA, DOUG	SS	1586	120	1706	
34	HANKE, KURT		1568	120	1688	
35	SODERGREN, SCOTT	SS	1564	120	1684	
36	НОИСК, МІКЕ		1524	140	1668	
37	SCHMIDT, DAN		1518	120	1638	
38	HENDRICKSON, CARL	rog	1533	100	1633	
39	SAVOY, DENNIS	rog	1501	120	1621	
40	OLYNYK, DAVE		1499	80	1579	
41	LATVALA, RICH	rog	1494	60	1554	
42	ADAMS, DAYBOW	rog	1458	80	1538	
43	JENSEN, JERRY		1373	80	1453	
44	MAGNUSON, TRACEY		1252	40	1292	

	1		1				
ΡοΥ		average		Gms		Money	
Birkedahl	111	Downer	230	Birkedahl	36	Birkedahl	1085
Wright	108	Birkedahl	225	Wright-r	36	Wright	1030
Downer-				Poelzer-		Downer-	
SS	87	Oulman	220	SS	31	SS	950
Poelzer-							
SS	82	Wright	219	Schossow	31	Oulman	815
T Jones	82	Poelzer	219	Oulman	31	Poelzer	790
Schossow	77	Cleveland	217	Hommes	29	Jones	770
Oulman	76	Wirz	217	Jones	29	Schossow	730
Hommes	72	Hommes	216	Downer	28	Hommes	690
Racette-							
SS	63	Schossow	216	Goodwin	27	Racette	550
Peterson	53	Racette	214	Racette	26	Peterson	426
Goodwin	49	Jones	213	Houck	24.5	Goodwin	415
Downer	87	Downer	230	Poelzer	31	Downer	950
Poelzer	82	Poelzer	219	Downer	28	Poelzer	790
Racette	63	Wirz	217	Racette	26	Racette	550
Blazej	34	Racette	214	Wirz	20	Peterson	426
						Blazej-	
Wirz	34	Holets	214	Blazej	19	rog	295